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03 Al =AY 2= 10,000 7,000 3,000
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04 DI2HHALALSE E X 80,000 56,000 24,000
OXHSAZE 43 OIHEHA XH
5,000,000& * 1670 Al & 80,000
SESAMEYE HEE AL, ZAY #HA FIL 5,000 3,000 2,000
307 glz2tol & 5,000 3,000 2,000
04 DIZHHALALSE E X 5,000 3,000 2,000
OEFE=RAY 23 AZAY A FIHX
5,000,000& = 13l 5,000
BI2AE 2Hs #H(EH) 8,000 7,000 1,000
307 21201 A 8,000 7,000 1,000
04 DIZHHALALSE E X 8,000 7,000 1,000
OE=ZRFAZ &3 HA &It
8,000,000& = 13l 8,000
HEAZ &0l 502 M=Us 21,900 22,000 A 100
307 21201 A 21,900 22,000 A 100
04 QIZFHALAIH B = 21,900 22,000 A 100
ONSAIE &0 SOISHMESHS
21,900,000& = 13l 21,900
DA BT 74,290 22,890 51,400
201 L2l 2,890 2,890 0
01 At 22l 2,000 2,000 0
O==+I S22 MH
1,000& = 1,0008 » 28 2,000
03 &Ar2 I 890 890 0
O==+H &¢ A3E Mzl 890
O8l=9 M= 70,0009 = 10K 70
Of3As Nz M 2,000& * 300% 600
OZA= 220
“J2ZAE 120,000& * 13l 120
= SR PN =3 100,000 * 13l 100
402 RI2FX=201 M 71,400 0 71,400
01 2I2E 2 A B (KR ) 71,400 0 71,400
OSARSSSZMEFUH BHSHAN d==2F
dEy =4 71,400,000 71,400
= MEE 503,000 280,000 223,000
307 gl2tol & 503,000 280,000 223,000
08 OIXtEE 3 503,000 280,000 223,000
O&F A Z(Loan) At 503,000
o120l 119,000, 000& 119,000
O2z0l 117,000, 000& 117,000
O3zl 125,000, 000& 125,000
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04zl 142,000,000 142,000
HEANE AEINE A (XA 90,000 81,000 9,000
201 Lt 10,000 0 10,000
02 =224l 10,000 0 10,000
OIBMESAIE R A4FI AME R+
10,000, 000& 10,000
401 A& HIZ 201 bI 80,000 81,000 A1,000
01 A& HI 80,000 81,000 A 1,000
OIBMESAIE L AEI} &272 AESHUSA
& 60,000,000& 60,000
OJMNEGHIUIEAE EE2UEH EXSAH(1HA)
20,000, 000& 20,000
HEANE AE SUAE X2 687,830 1,238,000 A 550,170
Xl 412,698
< 51,587
Al 223,545
401 Al HIZ 201 I 687,830 1,238,000 A 550,170
X 412,698
< 51,587
Al 223,545
01 A& HI 687,830 1,238,000 A 550,170
OFHelAZE OHHOIE B
575,605,000 * 14 575,605
Xl 345,363
< 43,170
Al 187,072
OSFMHEIANE &&5EHl & cotvE X
92,975,000& * 14 92,975
Xl 55,785
< 6,973
Al 30,217
OAMEAIE OHAHOIE 2 19,250,000& * 14 19,250
Xl 11,550
[ 1,444
Al 6,256
NEANZ DHXNALEH A 473,500 0 473,500
401 AIEHI L 20 473,500 0 473,500
01 A& HI 463,100 0 463,100
OMEANZE DAHXNJAEEH AE
463,100,000 » 14 463,100
02 2eltl 7,400 0 7,400
OMEAZE DHXJAHEH A Zeltl
7,400,000 * 14l 7,400
03 Al S HHI 3,000 0 3,000
OMEAZE DHXNJALEEH A AIE&R0UH
3,000,000& 3,000




2AM: LXield M ot
Ha: NP M
CHY: AFRBIAS L AADOl

(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
LISJIHH 4 d&XY9 AIAY 210,000 0 210,000
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10 2| 2 SHCHsHE A A S A 210,000 0 210,000
OUSIHH 4 XY XA
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Off L4 Xl - & 22| 3,769,176 5,908, 280 N2,139,104
= 101,528
J| 1,206,200
& 453,822
Al 2,007,626
MO Y JpACHA 22| 677,400 505,820 171,580
o 68,000
Al 609,400
201 et d| 3,560 1,980 1,580
01 AFR 2t 2| bl 3,560 1,980 1,580
OdI & JtAEZE EESE MHE
150€ * 10,0000H4 1,500
OdI| & JpACHMZE| & L0 K&
70,000 = 200 = 23] 280
ONUXIS20F 2 Z=IH M
100,000& = 5% 500
olHUHXIEY 2228 ¢
1,000€ = 1,0004 1,000
Ol X & &0 H&
70,000 = 200 = 23] 280
202 044l 3,840 3,840 0
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402 SI2t 20| & 670,000 500,000 170,000
& 68,000
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01 It E AL EXR (M) 500,000 500,000 0
OEAIA 22 XNIAY
500,000€ = 1,000Al CH 500,000
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& 68,000
Al 102,000
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Al 180,000
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OHIZ2IAIE EHLZ ES ALY
660,000& = 440kw 290,400
< 145,200
Al 145,200
FHAHS HUHXS KA 476,000 1,819,000 A 1,343,000
J| 333,200
= 42,840
Al 99,960
401 Al HI K 201 I 176,000 158,000 18,000
J| 123,200
< 15,840
Al 36,960
01 A& HI 174,775 157,050 17,725
SLSEAME=EX 2 2 404 LEDEZE WA At
A 174,775,000& 174,775
J| 123,200
< 15,840
Al 35,735
03 A& 2 THHI 1,225 950 275
OSLTEAS=SI2 2 404 LEDZ=Y WA A
e 1,225,000 1,225
403 Ut SHHSA=0l& 300,000 1,446,000 A 1,146,000
J| 210,000
< 27,000
Al 63,000
02 SJ|1 2SOl CHSH At 2 X CH & A I 300,000 1,446,000 A 1,146,000
OMASE LEDEZY W A (487AHICH)
300,000, 000& 300,000
J| 210,000
< 27,000
Al 63,000
MBIE JtAAE HEAE 126,910 552,090 A 425,180
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= 101,528
Al 25,382
403 X SHHS =0l & 126,910 552,090 AN 425,180
= 101,528
Al 25,382
02 S 2S0CHE A 2 X OHE At H 126,910 552,090 A 425,180
OAM2US JIAAY JHE ALY
245,000& * 518Jt+ 126,910
= 101,528
Al 25,382
ATHA U X XIS XA 128,000 342,000 A 214,000
J| 64,000
Al 64,000
401 Al HIZ 201 I 128,000 342,000 A 214,000
J| 64,000
Al 64,000
01 A& HI 121,750 327,000 A 205,250
OBZOILHAHASOQ ENSZ & X A (30KW)
89,750,000& * 14 89,750
J| 44,875
Al 44,875
OSSAY L HSTSAY NS & XA (]
OKW) 32,000,000& * 14 32,000
J| 16,000
Al 16,000
02 Zeltl 6,250 11,591 A5, 341
OHFUSHRASOR B LIAL
6,250,000& * 14 6,250
J| 3,125
Al 3,125
HASEE ST HEE ESMY 1,618,000 1,102,600 515,400
J| 809,000
Al 809,000
403 MtXSHHSA=0l& 1,618,000 0 1,618,000
Jl| 809,000
Al 809,000
02 S 2SO CHE A =X THE At H 1,618,000 0 1,618,000
ONASE ZESFE HYY BSMY(NLFD
L ELFI) 1,618,000,000& * 14 1,618,000
J| 809,000
Al 809,000
AN HX SSE XS ALY 121,326 993,470 AB72,144
< 121,326
401 A& HIZ 201 Y| 121,326 761,550 A 640,224
< 121,326

01 A& HI 121,326 734,432 A613,106
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OAMTHMUH UK 8= XA (EHL2Z, 2LIH
g, HsSAHAHYI) 121,326,000& * 14 121,326
= 121,326
JIFAEOIG S E2AHY 41,140 45,000 A 3,860
< 16,456
Al 24,684
403 UHXSHHSA=0l& 41,140 45,000 A 3,860
< 16,456
Al 24,684
02 SJ|1 2SO0l CHSHAt 2 X O & AF I 41,140 45,000 A 3,860
OJMNAEOIH=E E=SAE  41,140,0008 * 14 41,140
< 16,456
Al 24,684
XS ol XIAFS 50,000 0 50,000
207 A RO & H| 50,000 0 50,000
01 289 50,000 0 50,000
OMIXE HFAl WX SEHE ==
50,000,000& * 14l 50,000
QlMMEotdE st YXtel EE 7,945,922 7,558,162 387,760
= 1,395,780
Xl 2,104,577
= 508,585
Al 3,936,980
HE MOl U2 EHE 4,875,752 3,807,632 1,068, 120
= 1,036,000
Xl 211,577
< 299,440
Al 3,328,735
322 A 2,132,450 2,132,450 0
101 @14 Hl 2,127,280 2,127,280 0
04 JIZHHZ2XRHEES 2,127,280 2,127,280 0
03322 Mg o2 2,127,280,000& 2,127,280
201 L2l 2,770 2,770 0
01 At 22l 2,770 2,770 0
OYRF& =ZHl 1,720
O=AMEX 21,0003 » 40 A 840
OZegHe EH 220,000 = 404 880
OBZTIZANY A2ET S|
7,000& * 3H » 50¢ 1,050
202 odl 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
OZ2322AMY 2= ol
20,000& = 2H * 5 * 123 2,400
NESSH Liel A 423,154 363,632 59,522
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Al 211,577
< 41,255
Al 170,322
101 124 dl 338,520 277,632 60,888
Xl 169,260
< 33,045
Al 136,215
0412t Z2XREES 338,520 277,632 60,888
OXNGIZSHLRelArY el 338,520,000 338,520
Xl 169,260
< 33,045
Al 136,215
201 2et2d] 9,634 5,000 4,634
X 4,817
< 935
Al 3,882
01 At 22/ 9,634 5,000 4,634
ONADEMLNRAANY 28 S|
1,300,000 1,300
Xl 650
< 130
Al 520
OXNEIZ=sHLXelAE =& 88 5,504
OXNEZsHLXelAYE SSHE oM
5,000& = 1000H = 23l 1,000
Xl 500
< 100
Al 400
OXNSssHLUeAY AEAH 2 45
400& = 5,2500H 2,100
X 1,050
< 210
Al 840
OXNSssHLUeAY 28 =2 M
2,404,000 2,404
Xl 1,202
< 212
Al 990
ogkielg=t dEFA =S4 2,830
O=AE 21,0002 * 308 A 630
Xl 315
< 63
Al 252
OZegHe EH 220,000& = 104 2,200
X 1,100
= 220
Al 880
202 odl 5,000 4,000 1,000
Xl 2,500
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< 485
Al 2,015
01 = LH o4 1l 5,000 4,000 1,000
OXNAESSHLACIALY =& bl
20,0003 = 5 » 50 5,000
Xl 2,500
< 485
Al 2,015
206 M= Hl 70,000 77,000 AT7,000
Xl 35,000
< 6,790
Al 28,210
01 M= 4l 70,000 77,000 A7,000
OXNE3sHLXelAE =& H=HI
70,000,000& 70,000
Xl 35,000
< 6,790
Al 28,210
QNS ENJEH 24 515,400 295,800 219,600
< 42,300
Al 473,100
201 Let24E] 8,800 8,800 0
02 =224l 8,800 8,800 0
OFBFA E22 X2l e-SEEEBALAE SAE
- 110,000,000& * 8% 8,800
307 glz2tol & 506,600 284,000 222,600
< 42,300
Al 464,300
05 RIZHRI &3 506,600 284,000 222,600
OFFANLACESSHANZLEH 294
284,000,000& * 1JH 2 284,000
OHFMBUTE A e
40,000,000& = 13l 40,000
OYANLE TURHOILO & A
250,000& =« 403l 10,000
OSAJIHAHARH 29 88,000,000& 88,000
OYLXeIZEXNALHEH 012 M X =AY
84,600,000& 84,600
= 42,300
Al 42,300
NAERESE dieldEE NJAY 880,000 550,000 330,000
= 800,000
Al 80,000
307 21201 A 880,000 550,000 330,000
= 800,000
Al 80,000
02 YAFAAFEE 880,000 550,000 330,000
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OXda=s=a AXCEE KNFAY
880,000,000 880,000
= 800,000
Al 80,000
NEdzl|g &8 4,150 4,150 0
201 gBt24d| 4,150 4,150 0
01 AP 22| H| 4,150 4,150 0
olnsHdTIY ASEZ10 H&
400,000& = 10H 4,000
oONEBHETIY S A M 15,000& * 1004 150
HEFA XSAS 215,000 90,000 125,000
307 2iz2to| A 90,000 90,000 0
02 QIZ2IA AAIE E X 90,000 90,000 0
OarHoIHAAdS XA 90,000,000 90,000
308 MXISHMSOIA 125,000 0 125,000
M IIEIREE 2 125,000 0 125,000
oA FXZAXCIHEH N ()
500,000,000& = 25% 125,000
A3 B2 E S XSAY 262,223 0 262,223
= 236,000
Al 26,223
307 QI2t01 ™ 262,223 0 262,223
= 236,000
Al 26,223
02 QI2tAAMAIE E =X 262,223 0 262,223
O2017AI3 28 &S XA 262,223,000 262,223
= 236,000
Al 26,223
AMAFE QA T2 AP 443,375 0 443,375
= 215,885
Al 227,490
101 e1214| 28,800 0 28,800
o=} 14,400
Al 14,400
04 J|I2ZtHIZ22NEES 28,800 0 28,800
OMAXMATIC|IAIY QI 28,800, 000& 28,800
= 14,400
Al 14,400
201 LBt | 45,820 0 45,820
= 22,910
Al 22,910
01 AP 22| d| 45,820 0 45,820
OMAMMAULIICIAIYE =& S| 2,600,000& 2,600
o 1,300
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Al 1,300
oHAYRZ 1,800,000 = 11& 19,800
< 9,900
Al 9,900
OMMHUTIC HRFE =EH| 23,420
O=AEX 21,0002 » 80 A 1,680
< 840
Al 840
OoxZgd EH 220,000& = 2004 4,400
< 2,200
Al 2,200
OMMRATZIANY MBAHE 35
400& = 5,2500H 2,100
< 1,050
Al 1,050
OMMNATZINY ELH4Y L 222 X
& 12,240,000& 12,240
< 6,120
Al 6,120
o1l =l 3,000,000& 3,000
< 1,500
Al 1,500
202 044l 9,000 0 9,000
= 4,500
Al 4,500
01 SLHOIYI 9,000 0 9,000
OMAMBUTICIAIL F=E (bl 9,000,000& 9,000
< 4,500
Al 4,500
301 et d = 348,150 0 348,150
< 174,075
Al 174,075
1MIIEBESS 348,150 0 348,150
OMMRUTIIAY BOIK A2
348,150,000 348,150
S 174,075
Al 174,075
308 AHAIEHHSOIA 11,605 0 11,605
07 IXNHMAR S = 11,605 0 11,605
OdEE= 11,605,000 11,605
A2 E LRel & E 3,070,170 3,750,530 A 680,360
= 359,780
Xl 1,893,000
< 209,145
Al 608,245
MIHIY 243 X3 12,960 12,960 0
201 Zet24E] 9,800 9,800 0
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01 At 22l 9,800 9,800 0
OAZEIIY HE 88 X 3,800
OMIEIIY ME 82 I M
3,000& * 600= 1,800
OMEIEDIIY 222 HH
2,000& = 1,0000H4 2,000
OAMIAAHIY 2=t BHEXE
200,000& * 302 6,000
202 044l 2,160 2,160 0
01 = LH o4 1l 2,160 2,160 0
OAMIA DY 2= 0l
20,000& = 3F * 3 * 123 2,160
307 21201 A 1,000 1,000 0
02 YAFHAANGFEX 1,000 1,000 0
OAZ DY &#4dst WERT 223l
1,000,000 = 13l 1,000
ASIEIY SH(LU2EE) 2,414,666 3,093,649 A 678,983
Xl 1,811,000
< 150,916
Al 452,750
307 glz2+ol & 2,414,666 3,093,649 A 678,983
Xl 1,811,000
< 150,916
Al 452,750
02 HAHFHAANGEEE 2,414,666 3,093,649 A 678,983
O (0l ALSI &Il &AL 2,320,000,000& 2,320,000
Xl 1,740,000
< 145,000
Al 435,000
O(0IENAISI RIS M2 AL
94,666,000 94,666
X 71,000
< 5,916
Al 17,750
ASIEDIY SH(AMSIBER) 88,573 0 88,573
Xl 62,000
< 7,972
Al 18,601
307 21201 A 88,573 0 88,573
Xl 62,000
< 7,972
Al 18,601
02 IZtEHAIHE L 88,573 0 88,573
OAMIAEIIS MIEZEZE XA 88,573,000& 88,573
Xl 62,000
< 7,972
Al 18,601
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AMSIEDS AFEOHEH K& At 513,971 603,571 A 89,600
= 359,780
< 46,257
Al 107,934
307 gl2tol & 513,971 603,571 A 89,600
= 359,780
< 46,257
Al 107,934
02 (It HAMHEE 513,971 603,571 A 89,600
OA2I EH I AFHIHEHl XI&AS
513,971,000 513,971
= 359,780
S 46,257
Al 107,934
02018 s4d XNEAMY 40,000 40,350 A 350
X 20,000
< 4,000
Al 16,000
307 gl2tol & 40,000 40,000 0
Xl 20,000
< 4,000
Al 16,000
02 IZtE M AHE L 40,000 40,000 0
onsllg 84 XA ALY 40,000,000& 40,000
Xl 20,000
< 4,000
Al 16,000
HY2HAH (LAl Z M) 65,892 62,392 3,500
JlEZ3l 65,892 62,392 3,500
JlE&l 65,892 62,392 3,500
201 €24 32,552 30,052 2,500
01 At 22l 27,052 27,052 0
OJl=ge =dHEsZH(OI=2H])
11,500, 000& 11,500
O=ZHI(J1E&HI) 11,592,000& 11,592
OEU(3M) 7¢ 220,000& = 38 = 64 3,960
02 =224l 5,500 3,000 2,500
OdHFZH FXH 4,000,000& 4,000
OZ3J18 &7 =Xl 45,000& * 1CH = 128 540
O&F=I| KXY 40,000 = 200 = 123 960
202 044l 24,840 24,840 0
01 = LH o4 1l 24,840 24,840 0
OJIE&l 24,840,000 24,840
203 ¥R =&l 7,500 7,500 0
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01 JI22HEYRFAH| 3,300 3,300 0
OJI=H(42) 3,300,000 3,300

04 EANSILR2F=XH| 4,200 4,200 0
©J| =M (30210]56t) 350,000& = 12€ 4,200

405 XHA&HF S HI 1,000 0 1,000

FSHl 1,000 0 1,000
O2AM M EDI 1,000,000 = 1CH 1,000




